

Mathematical Journal of Okayama University

Volume 37, Issue 1

1995

Article 11

JANUARY 1995

Generalized n-Potent Rings

Howard E. Bell*

Hal G. Moore†

Adil Yaqub‡

*Brock University

†Brigham Young University

‡University Of California

Copyright ©1995 by the authors. *Mathematical Journal of Okayama University* is produced by
The Berkeley Electronic Press (bepress). <http://escholarship.lib.okayama-u.ac.jp/mjou>

GENERALIZED n -POTENT RINGS

Dedicated to the memory of Professor Hisao Tominaga

HOWARD E. BELL, HAL G. MOORE, and ADIL YAQUB

In [1], [2], [3] and [4], some generalizations of Jacobson's theorem which states that a ring R in which for every $a \in R$ there exists an integer $n(a) > 1$, depending on a , such that $a^{n(a)} = a$, is necessarily commutative have been studied in various directions. In this note, these results will be partially generalized to a wider class of rings, namely generalized n -potent rings.

Throughout, R denotes an associative ring, N the set of nilpotent elements of R , C the center of R , J the Jacobson radical of R , $C(R)$ the commutator ideal of R , and \mathbb{Z} the ring of rational integers. For x, y in R , $[x, y] = xy - yx$ denotes the commutator.

We now introduce the following definitions.

Definition 1. Let n be a fixed integer, $n > 1$. A ring R is called a *generalized n -potent ring* if

$$(*) \quad x^n - x \in N \cap C \quad \text{for all } x \in R \setminus (N \cup C).$$

Definition 2. If the set E of all idempotents of R is contained in C then R will be called a *ring with all idempotents central*. If N is contained in C then R will be called a *ring with all nilpotents central*.

Our main result is the following: *A generalized n -potent ring R with all idempotents central is commutative if it satisfies two conditions:*

- (i) For all $a, b \in N$, $[a, b] = [a, b]^q$ for some integer $q > 1$.
- (ii) $(n - 1)[a, x] = 0$ implies $[a, x] = 0$ for all $a \in N$, $x \in R$.

It is further shown that all of the hypotheses of this theorem are essential.

We also prove a following structure theorem for generalized n -potent rings: If R is a generalized n -potent ring with all idempotents central which satisfies the above condition (ii), then $R = C$ or $R = N$.

Remark. A ring R is a generalized n -potent ring if and only if one of the following conditions holds:

- (1) $R = N \cup C$.
- (2) $R \neq N \cup C$ and $(*)$ is satisfied.

Now, we take a closer look at case (1). In this case, for any $a, b \in N$ with $a - b \in C$, we have $ab = ba$, and so $a - b \in N$. Moreover, for any $a \in N$ and $x \in R$ with $ax \in C$, an easy induction shows that $(ax)^k = a^k x^k$ for all positive integers k , and so $ax \in N$. Similarly, $xa \in N$. Hence, if $R = N \cup C$, then N is an ideal of R , whence $R = N$ or $R = C$. Next, for any elements $a, b \in R$ with

$$[a, b] = [a, b]^q \quad \text{for some integer } q > 1$$

we have

$$[a, b] = ([a, b]^q)^q = [a, b]^{q^2} = [a, b]^{q^k}$$

for all positive integer k . Hence, if $R = N$ and R satisfies (i) above, then $R = N = C$. Therefore, it follows that, if $R = N \cup C$ and R satisfies (i) also, then $R = C$.

We have thus shown the following:

- (a) If $R = N \cup C$, then $R = N$ or $R = C$.
- (b) If $R = N \cup C$ and R satisfies (i) above, then $R = C$.

We now prove the following two lemmas.

Lemma 1. *If R is a generalized n -potent ring, then $J \subseteq N \cup C$.*

Proof. Suppose not, and let $x \in J$, $x \notin N$, $x \notin C$. Then, since R is generalized n -potent, $x^n - x \in N \cap C$. So $(x^n - x)^m = 0$ for some $m \in \mathbb{Z}^+$, and thus

$$x^m = x^m(xg(x)), \quad \text{for some } g(\lambda) \text{ in } \mathbb{Z}[\lambda].$$

From this equation we readily obtain the relation $x^m = x^m(xg(x))^m$; so we see that $e = (xg(x))^m = x^m g(x)^m$ is idempotent. Thus, $e = (xg(x))^m$ is an idempotent element of J (since $x \in J$). Therefore $e = 0$. This implies that $x^m = 0$, which contradicts $x \notin N$. This proves the lemma.

Lemma 2. *Let R be a generalized n -potent ring with all idempotents central. Then,*

- (i) $ax \in N$ for all $a \in N$ and $x \in R$;
- (ii) N is an ideal of R ;
- (iii) $C(R) \subseteq N \subseteq J \subseteq N \cup C$.

Proof. Suppose that (i) is false and let $a \in N$ and $x \in R$, with $ax \notin N$. As seen in above Remark, we note that if $ax \in C$, then $ax \in N$, a contradiction. This shows that $ax \notin C$. Thus, $ax \notin N \cup C$. So, because R is generalized n -potent, we have $(ax)^n - ax \in N$. Then, as in the proof of Lemma 1, $(ax)^m = (ax)^m e$, where $e = ((ax)g(ax))^m$ is idempotent, and $g(\lambda)$ in $\mathbb{Z}[\lambda]$.

By hypothesis, e is central so $e = ee = e((ax)g(ax))^m = eat = aet$, for some $t \in R$. Thus, $e = aet$, and as we noted in above Remark, since $aet \in C$, $e = e^q = (aet)^q = a^q(et)^q = a^q et^q$, for all positive integers q . But since $a \in N$, for some q , $a^q = 0$; so $e = 0$. Hence, $(ax)^m = 0$, a contradiction, since $ax \notin N$. This proves part (i).

For (ii), let $a \in N$ and $x \in R$. Then, from (i), $ax \in N$, and hence ax is right quasiregular for all $x \in R$. Thus $a \in J$, and hence $N \subseteq J$. Combining this with Lemma 1 we see that $N \subseteq J \subseteq N \cup C$. Now suppose that $a, b \in N$. Then both a and $b \in J$, so $a - b \in J \subseteq N \cup C$. Thus, $a - b \in N$ or $a - b \in C$. But if $a - b \in C$, then $ab = ba$ and, therefore, $a - b \in N$, for all $a, b \in N$ in any case. Next suppose that $a \in N$ and $r \in R$. Then, from part (i), $ar \in N$, say $(ar)^q = 0$. Hence, $(ra)^{q+1} = 0$ and so $ra \in N$. Thus, N is an ideal of R .

Finally for (iii), since N is an ideal, the factor ring R/N exists. Since generalized n -potency is inherited by homomorphic images of R , R/N is also generalized n -potent and we readily obtain that for every $y \in R/N$, $y^n - y$ is in the center of R/N . Therefore, by Herstein's Theorem [1], R/N is commutative, and thus $C(R) \subseteq N$ [$C(R)$ is the commutator ideal of R]. Combining this result with $N \subseteq J \subseteq N \cup C$, we have part (iii).

We next prove the following theorems.

Theorem 1. *A generalized n -potent ring with all nilpotents central is commutative.*

Proof. Since the set N of nilpotent elements of the ring R is contained in the center C of R , this implies at once that $x^n - x \in C$ for all $x \in R$. Hence, by Herstein's Theorem [1], R is commutative.

Theorem 2. *Suppose that R is a generalized n -potent ring with identity. Suppose further that for all $a \in N$, $x \in R$,*

$$(**) \quad (n-1)[a, x] = 0 \quad \text{implies} \quad [a, x] = 0.$$

Then R is commutative.

Proof. We claim that in this case $N \subseteq C$. Suppose, not, and let $a \in N, a \notin C$. Suppose that

$$(1) \quad [a^\sigma, x] = 0, \quad \text{for all } \sigma \geq \sigma_0, \sigma_0 \text{ minimal, } x \in R \text{ arbitrary.}$$

We claim that $\sigma_0 = 1$. Suppose not. Then, $1 + a^{\sigma_0-1} \notin N \cup C$, and hence,

$$(2) \quad (1 + a^{\sigma_0-1})^n - (1 + a^{\sigma_0-1}) = b \in C.$$

Combining (1) and (2), we see that $(n - 1)[a^{\sigma_0-1}, x] = [b, x] = 0$ for all $x \in R$, and thus by (**), $[a^{\sigma_0-1}, x] = 0$, for all $x \in R$. This, however, contradicts the minimality of σ_0 in equation (1), so $\sigma_0 = 1$. Therefore, by (1), $[a, x] = 0$ for all $x \in R$, which contradicts $a \notin C$. This contradiction proves $N \subseteq C$, and the theorem now follows from Theorem 1.

Theorem 3. *Suppose that R is a generalized n -potent ring with all idempotents central. Suppose further that for all $a \in N, x \in R$,*

$$(n - 1)[a, x] = 0 \quad \text{implies} \quad [a, x] = 0.$$

Then $R = C$ or $R = N$.

Proof. By Lemma 2, N is an ideal of R . Suppose $R \not\subseteq C \cup N$, and let x be an arbitrary element of $R \setminus (C \cup N)$. Then, by (*), $x^n - x \in C \cap N$. Hence, as in the proof of Lemma 1, $x^m = x^m e$ for some positive integer m and some idempotent e of R . By hypothesis, we have $e \in C$. Since $x \notin N$, e is nonzero. Now, we consider the Peirce decomposition

$$R = Re \oplus A,$$

where $A = \{a - ae; a \in R\} = \{a \in R; ae = 0\}$, which will be denoted by $R(1 - e)$. Obviously

$$C = Ce \oplus C(1 - e), \quad N = Ne \oplus N(1 - e)$$

and, Ce (resp. Ne) coincides with the set of all central (resp. nilpotent) elements of Re . Further

$$\begin{aligned} C \cap N &= (Ce \cap Ne) \oplus (C(1 - e) \cap N(1 - e)), \\ R \setminus (C \cup N) &\supseteq Re \setminus (Ce \cup Ne). \end{aligned}$$

From this, an easy computation enables us to see that Re is a generalized n -potent ring with the identity e . Moreover, for all $a \in N$, $b \in R$, we have $ae \in N$, and hence by hypothesis,

$$(n-1)[ae, be] = 0 \quad \text{implies} \quad [ae, be] = 0.$$

Now by Theorem 2, we see that Re is a commutative ring, whence $Re \subseteq C$. We write $x = xe + (x - xe)$. Then $x^m = x^m e + (x - xe)^m$. Since $x^m = x^m e$, we have $(x - xe)^m = 0$. Hence $x - xe \in N$.

We set $a = x - xe$. Since $x \notin C$ and $xe \in C$ (since $Re \subseteq C$), we have $a \notin C$. Suppose that

$$a^\sigma \in C \quad \text{for all} \quad \sigma \geq \sigma_0, \quad \sigma_0 \text{ minimal.}$$

Then $\sigma_0 > 1$, $a^{\sigma_0-1} \notin C$, and $e + a^{\sigma_0-1} \notin N \cup C$. Hence

$$(e + a^{\sigma_0-1})^n - (e + a^{\sigma_0-1}) \in C.$$

Since $ea^{\sigma_0-1} \in eR \subseteq C$ and $(a^{\sigma_0-1})^m \in C$ for all $m \geq 2$, we have,

$$(e + a^{\sigma_0-1})^n \in C, \quad \text{and so} \quad e + a^{\sigma_0-1} \in C.$$

This implies $a^{\sigma_0-1} \in C$, which is a contradiction. Therefore, it follows that $R = C \cup N$. Thus, we obtain that $R = C$ or $R = N$ (see above Remark (a)).

We are now in a position to prove our main result.

Main Theorem. *Suppose that R is a generalized n -potent ring with all idempotents central. Suppose further that*

- (i) *for all $a, b \in N$, $[a, b] = [a, b]^q$ for some integer $q > 1$; and*
- (ii) *$(n-1)[a, x] = 0$ implies $[a, x] = 0$, for all $a \in N$, $x \in R$.*

Then R is commutative (and conversely).

Proof. Let $a, b \in N$. By Lemma 2(iii), the commutator $[a, b] \in N$, and thus for some positive integer r , $[a, b]^r = 0$. Moreover, by hypothesis (i), $[a, b] = [a, b]^q$ for some integer $q > 1$. Hence, as is seen in above Remark, we have $[a, b] = 0$ and, therefore, N is commutative. By Theorem 3, $R = C$ or $R = N$, and the theorem thus follows.

Jacobson's Theorem for fixed n , is an immediate corollary of our main theorem, since in that case $N = \{0\}$. So all idempotents e in R are central. This follows because $(ex - exe)^2 = 0 = (xe - exe)^2$. We state this result as

Corollary 1. *Suppose that R is a ring such that for all $x \in R$, $x^n = x$, $n > 1$ a fixed integer. Then R is commutative.*

We also have the following additional corollary:

Corollary 2. *Suppose R is a generalized n -potent ring with all idempotents central and with commuting nilpotents. Suppose further that the set N of nilpotents is $(n - 1)$ -torsion-free. Then R is commutative.*

Proof. By Lemma 2(ii), N is an ideal of R , and so $[a, x] \in N$, for all $a \in N$ and $x \in R$. Therefore, hypothesis (ii) of the main theorem is satisfied (since N is $n - 1$ -torsion-free), and the corollary follows.

We conclude with the following examples which show that our main theorem need not be true if any one of the hypotheses is deleted.

Example 1. Let

$$R = \left\{ \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 1 \\ 0 & 1 \end{pmatrix}, \begin{pmatrix} 1 & 0 \\ 1 & 0 \end{pmatrix}, \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix} : 0, 1 \in GF(2) \right\};$$

and let $n = 2$.

This example shows that the hypothesis that all of the idempotents are central cannot be deleted from the main theorem.

Example 2. Let

$$R = \left\{ \begin{pmatrix} a & b & c \\ 0 & a^2 & 0 \\ 0 & 0 & a \end{pmatrix} : a, b, c \in GF(4) \right\};$$

and let $n = 2$.

This example shows that the hypothesis that the ground ring R is generalized n -potent cannot be deleted from the main theorem.

Example 3. The ring of all *strictly* upper triangular 3×3 matrices over $GF(3)$, with $n = 3$, shows that hypothesis (i) of the main theorem cannot be deleted.

Example 4. The ring in Example 2, but now with $n = 7$, shows that hypothesis (ii) of the main theorem cannot be deleted.

Acknowledgement. In conclusion, we would like to express our gratitude to Professor Takasi Nagahara for his valuable suggestions and helpful comments, which resulted in strengthening the results.

REFERENCES

- [1] I. N. HERSTEIN: A generalization of a theorem of Jacobson, III, Amer. J. Math. **75** (1953), 105-111.
- [2] H. KOMATSU, T. NISHINAKA and A. YAQUB: On commutativity of a certain class of rings, Math. J. Okayama Univ. **34** (1992), 131-134.
- [3] N. H. MCCOY and D. MONTGOMERY: A representation of generalized Boolean rings. Duke Math. J. **3** (1937), 455-459.
- [4] H. G. MOORE and A. YAQUB: Structure of generalized p -rings, Math. Japonica **37** (1992), 1161-1167.

H. E. BELL

DEPARTMENT OF MATHEMATICS

BROCK UNIVERSITY

ST. CATHARINES, ONTARIO, CANADA L2S 3A1

H. G. MOORE

DEPARTMENT OF MATHEMATICS

BRIGHAM YOUNG UNIVERSITY

PROVO, UTAH 84602, USA

A. YAQUB

DEPARTMENT OF MATHEMATICS

UNIVERSITY OF CALIFORNIA

SANTA BARBARA, CA 93106, USA

(Received April 6, 1994)